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Hall Ticket

Time : 2 Hr. 30 Min.
Number :
Signature of Total Marks : 150
the Candidate

Note : Before answering the questions, read carefully the instructions given on the
OMR sheet.

s (B o amrevey [Fromed mow, OMR earew HBE0S® Rbadd Qrusden erigm SSHod.

SECTION — A : MATHEMATICS (53¢ =°09:0)

1 The value of log, e is

log, eve dend Dos?

m ;5 @ 2 ® 3 )

2 Cardinal number of the set 4={-2,-1,0,1,2} is

A={-2,-1,0,1,2} &D3E8 seQdSdowg
) 5 2) 4 a; 2 4) 2

3  The zeroes of the quadratic polynomial x2 +24x+119 are
(1) one positive and one negative (2) both positive
(3) both negative (4) none of the above
x2+24x+119 &3 HE 2IFVHB Freged
(1) 288 Sorehygo B 2.8¢3 23>y S0 (2) SBodr Gardygo
(3) Bodr ey S0 4) 2RV =P
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What is the degree of the polynomial Tu® —%u4 +6u’—8 ?
7u’ —%u4 L 6ul—8 e airdd HOHrE) Jo8?

(7 @ -3 3 6 ) -8

H.C.F. of 8, 9 and 25 is
8. 9 ®bam 25 © K35

10 2) 1 (3) 2 4 3
L,
W5 is
(1) Natural number (2) Rational number
(3) Irrational number (4) An Integer
1
':/—‘2’ (SR A
(1) Ssres Dowg (2) 88e5oK Howg
(3) &8eBon Howg (4) %8 Sog

If 2% =82 then x=?

2% =82 eond X=? '

(1) 2 (2) 4 (3) 6 4) 8
A={C,0,V,1,D,19,2020}, B={C,0,V,1,D,19,2021} then B—A4="?
4={c,0,v,1,D,19,2020}, B={C,0,V,1,D,19,2021} ®ad B-A=?
(1) {2020} . (2) {2021}

(3) {2020, 2021} - (@) {c.0.V.1,D,19,2020,2021;

" Find the value of logg0.01

log 1 0.01 dend Dod?
(1) 1 (2) 2 (3) 3 @ 4

SPACE FOR ROUGH WORK / D I8 BeronoBadd PO
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10

11

12

13

14

15

16

The roots of x2+x—6=0 are

x2+x-6=0 By dwreren

() Ta @23 @3) 2,3 oy -2 3

i ; I
If o, B are the roots of a quadratic equation ax”+bx+c=0, a#0 then a+—:

o, B e ax? +bx+c=0,a#0 BoE) DHrersd, —1-+-[13—=
o

o @ 2 [ 4) =

10t term of an arithmetic progression 2,—1,—4

2,-1,—4,....... O VOERASE HeSH DS |
(1) =21 (2) 23 (3) 25 4) 27

9 sesvens

How many two digit numbers are divisible by 7 ?
7 B 2rAoS 286 Bokose Bopgen ay?
(1) 10 (2) 11 (112 4) 13

Thesumof15terms ol AP 5, 6009, ...
s 9. ... o ©o¥RERQS™N 15 Hore Bvdo
(1} 315 (2) 360 (3) 415 (4) 460

The value of x which satisfies the equation 2x—(4—x)=5—x is
2x—(4—x)=5-x o HDESeTI) Sy DSV x Jewd
(1) 4.5 23 1) 225 4) 0.5

Solution of the equations 3x—4y=7 and 2x+3y=-1 is not equal to
3x—4y=7 ®0ak 2x+3y=-1 HDESeTO J¢H Ss (80 °¢3S° BIB HreTro S0

9913 33 44 a4 77 7% 11
o e (2} 33 44 ) 44 . 77 @) 77 o h1

(1)

SPACE FOR ROUGH WORK / 9 %8 Séronosadd deiw

POLYCET-2021—B ] 3 ' [ PT.O.



17 If Zn=45, then n=
2n=45 e®ond, n=
(1) 9 (2) 10 (35 11 “4) 12

18 The centre of a circle with (1, 2) and (7, —4), as end points of the diameter is
(1, 2) ®dotn (7, 4) ev argeren o Ko %) So|cso
(1) (4. 1) (2) 4, -1 0O 4, -1 4 4 1)

19 Area of a triangle formed by the line xcoso + ysino = p with the coordinate axes is
xcoso+ysina=p Op drssgod Y68 (Behe Bwogo

. 2 2
p P P P
(1) 2 sin oL cos o (2) sin o cos o L) 2 sin oL cos o ) sin o/ cos o
20 If x+7y=7 and 7x-3y=-3, then y=?
X+7y=7 6o 7x—3y=-3 eond, ¥ Jeud 9
(12 (2} (1) 4 0

21  Which of the following equation is not a linear equation ?
&3 (808 BESeTreS® & o HES®O $°cH?

(1) 243x=y-5 (@) 3—x=p2+7 (3) x+3y=2y-x (4) 5x+2y=0

22 If x2+kc+1=0 has a root x=1 then k=
X2 ke +1=0 S8semtndd Xx=1 o8 sremn vavd, k=

(1) 1 () 2 3) 3 4 -2

23 If the roots of the quadratic equation ax2+py+c=0 are sinae and cosa, then

1+25 =

a

sin o, ©8a% cosQo ev ax2+bx+c=0 éinézr orerren ®ad, 1+2£ =
a

2 b2
(M) >3 @ = 3) o ) »?

SPACE FOR ROUGH WORK / DH B8 Seranosedd e
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24 If the system of equations 3x—2y—7=0 and kx+2y+11=0 has unique solution then

3x—2y—7=0 &80 kx+2y+11=0 8o 28H JBE F¢H $08
(L) k=3 (2) k-3 $) =3 4) k=-3

25 If 7x-5y=2 and 3x+y=4, then x=2?
Tx—5y=2 8ot 3x+y=4 ©ond, x Jed ?
(1) 3 ) 3 1 4 2

26 The distance between the points (0, 0) and (5, 12) is
(0, 0) 28w (5, 12) DooHe g Brdo
{1 1 (2) L (3) 13 (4) 14

27 If the slope of the line through (x, 5) and (5, 2) is 3, then the value of x is

(x, 5) ®Bam (5, 2) © Moae Y B aren 3 ©owd, X Jewd
(ra (2) 4 {5) o 4) 6

28 If AABC~APQR, £4=32°, ZR=65° then £B="?

AABC ~APOR; £A=32°, ZR=65° eond, LB=?
(1) 93° (2) 830 (3) 73° (4) 630

29 The angle in the minor segment is

(1) obtuse (2) acute (3) 90° (4) None of these
o bdpoto & mo §%e00.
(1) o8 (2) ooy ‘ (3) eow (4) 96 s

SPACE FOR ROUGH WORK / 2& %08 Séronosadd How
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30 In the Tigure ZBA0=30", £BCO=40" then ~40C="?

S0 od LBAO=30°, LBCO=40° eond, LAOC =?

(1) 100° (2) 120° (3) 140° (4) 150°

31 In the figure OB=13cm, OP L AB, OP=12cm then 4B=
Ho o0& OB=13 20.., OP L AB, OP =12 0.%. ®ond, AB=

(1) 100 cm (o) (2) 50 cm (0.») (3) 75 cm (0.D) (4) 10 cm o.D)

32 In the AABC; D, E and F are the mid points of the sides BC. C4 and AB.
Then area of ADEF : area of AABC=

AABC &* D, E %005 F e %830 BC, CA %805 AB o
ADEF Jreogo 1 A4BC Jogo =
(1) 1:4 $2) 4:1 (3 15 (4) 34

SPACE FOR ROUGH WORK / 2& %08 Seronosadsd Sodn
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33

34

35

36

In the given figure ZBAC=90°, 4D 1 BC, BD=9cm and CD=16cm then AC=?

[N B0 %08 /BAC=90°, AD1 BC, BD=9cm 8o CD=16¢m ®owd, AC=?

A
=
i 9 D 16 5
(1) 10 cm (Z) 15 cm (3) 20 cm ‘ (4) 25 cm

The base of two similar triangles are 24 cm and 18 cm. If one side of the first triangle
is 8 cm then corresponding side of other triangle is

(1) 8 em. 2) 6 cm (3) 4 cm (4 2 em

Bods Hirs (Bebare grine FdPes 24 To.h. Hoam 18 o.d.ev. a8 (Babe g0 20.5.
oD, Bodd ©DErD |Bzhes gheso 0.

(1) 8 2) 6 (3) 4 4) 2

If a parallelogram is cyclic, then it is a
(1) rectangle (2) square (3) quadrilateral (4) rhombus
BEPOSE S ezt HBaN, ©b a8

(1) &g sespne  (2) Ssog (3) Seothyesios (4) ooowd

The perimeter of a rhombus is 52 cm, if its one diagonal is 24 cm then the length of
its other diagonal is

(1) 5 em : (2) 7 cm (3) 9 cm (4) 10 cm
2.8 el G, HEpFed 52 0.0, Lba o7 af 8go FdP 24 200.2). ©owd & Bodkd 8o
P& Jos?

(1) 5 20.. (2) 7 0.. (3) 9 20.v. (4) 10 20.2.

SPACE FOR ROUGH WORK / & %38 Seronosadd goms
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37

38

39

40

41

42

The radius of a cone is 7 m and its height is 10 m. Then its slant height is

(1) 122 m (2) 13.5m (3) 145 m (4) 162 m
&8 Joan) Bgy Trgrdin 7 . HBAK Jew I 10 D. WO, JeTed &
(1) 122 % (2) 1358 ) 145 S 4) 16.2 .

If tan®=cot 0 then the value of secO=
tan O =cot 0 eond, secH Jewd

; A
1 7 ) % 3) 2 4 1

The angle at tangent to a circle and the radius drawn at the point of contact is
287Dy B By ﬁaéﬁim&s & agIrE0 Boxo SPeadw
(1) 60° (2) 902 (3) 45° (4) 30°

The ratio of volumes of two cones is 4:5 and the ratio of the radii of their bases is 2:3
then the ratio of their vertical height is

Boch FoawPHe DHEVErwo 4:5 DHda e wwga"gvo ADE 2:3 wond, 8 JenP IhHe IS
(1) 4:5 2) 9:5 {335 4) 2:5

Three cubes of sides 6 cm, 8 cm and 1 cm are melted to form a new cube then the
length of the edge of the new cube is

(1) 9 cm (2) 8 cm (3) 7 cm (4) 6 cm
6 20.2., 8 20.. HBa 1 0.0, en gherer Ko ST D BN &8 Y FHdo Sakrd
Boorr & HHo By ghHao Sod Jos?

(1) 9 20.5. (2) 8 20.2. (3) 7 %0.%. (4) 6 20.2.
If A+B=90° and cotB=% then the value of tan A=
A+ B=90° H»8axn cotB=% @od, tan 4 D

3 4 1 1
o5 ) = @ @ 3

SPACE FOR ROUGH WORK / 2& %38 Seranosadd doin
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44

45

46

In the figure, AP=12cm, PB=16cm. Let w=3, then the perimeter of the shaded
portion is

He0 wod AP=12 20.0., PB=16 0.., T=3 oond, Wd Fonadd [@Frodo Gy
HepFos Jos?

(1) 52 cm (20.2) (2) 58 cm (o) (3) 56 cm 0.D) (4) 62 cm (0..)

If the diameter of a sphere is 'd' then its volume is

28 Ao Bwgy argdo 'd' wand, @ HHOLrO

i S i 3 -3
() o5 (2) ;™ L) ol 4) 3md

A reservoir is in the shape of a frustum of a right circular cone. It is 8 m across at the
top and 4 m cross at the bottom. It is 6 m deep then its capacity is

(1) 704 m3 (2) 174 m3 (3) 127 m3 : 4) 170 m?3
28 Beson B (BSSE By erio (D) ws*E0S® S0k, ard % dA (8ob T GPT 8 o
4 %, H8a S 6 . ®and, T W HOIPH0 Jod?

(1) 704 &3 (2) 174 &3 (3) 127 &3 4) 170 &3

A dice is thrown twice. Then the probability of that '5' will come up at least once.
28 DS o Fh PR, 80 2,80 @D Dwwop 'S By Vogrigd

M 3 @ = 3 = @ =

SPACE FOR ROUGH WORK / 9 308 Seronosadsd deoin

POLYCET-2021—B ] 9 | [ P.T.O.



47

48

49

50

If the mean of 6,7,x,8,y,14 is 9 then x+y=
6,7,%,8,y,14 © e» 9 eowd, x+y=

From the figure, 9=

o 26.)0&, 6=
C
100\/§m
0
A I_ B
100.m
(1) 45° : (2) 60° (3) 30" (4) 75°

The tops of two poles are of height 20 m and 14 m are connected by a wire.
If the wire makes an angle 30° with the horizontal, then the length of the wire is

() I1m 2 12m (3) I3 m (4) 10 m
20 2. oax 14 . FaHen o Tok Hoare D) B2hE S0, & s §82: Hross S& 300
S0 B, © s By FEH

(1) 11 %, 2) 12 . (3) 13 . ‘ 4) 10 .

If three coins are tossed simultaneously, then the probability of getting at least two
heads is

B TEToD SO/ HHS T, EX0 Do erdhiven $B)) VorDgd

OF: @ 2 OF ) 3

SPACE FOR ROUGH WORK / DH D8 BeranoBdd SHeoxn
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The A.M. of 30 students is 42. Among them, two students got zero marks. Then A.M.
of the remaining students is

30 Hod bovgg.)o 5w 42. ot 2308 '0' 3y e 5, ADD Swggao Hesen

(1) 40 (2) 45 3) 50 (4) 55
52 The median of 17,31,12,27,15,19,23 is
17,31,12,27,15,19,23 o &»&y egiso
(1) .19 (2) 20 3) 21 4 22
B Mode of 4. 8.¢.D,..... ,Z 18
(1) 20 (2 21 ) 22 (4) No mode
B¢ D 2 © B rsudEo
(1) 20 (2) 21 3522 (4) ersuego Godh

54 The value of sin® or cos® never exceeds

(D). -1 : 23 1 3) 0 (4) None of these

sin@ Bee cosO © @y dewd BILB KD S°.

(1) -1 il (3) 0 (4) 26 s
55 In the figure, the value of cosec 4 is

¢
5 12
A B
13

H08°, cosec 4 @0EY end

W 5 @ T ® o @ =

SPACE FOR ROUGH WORK / & %38 Seranosadsd deoin
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56 If a two digit number is choosen at random then the probability that number choosen

is a multiple of 3.

Bodose K)O@pge‘}% 28 ooy A0%08, ©d 3 SBoo&y, &eﬁa@éﬁas HoerHg s

1 1 1 1
() = @ 3 3) 3 @) 3
857 Plxj+P(notx")—
P(x)+P("x s8") =
(1) =1 2) 2 3) 1 “4) 2
B0 TEcochel then 22 TR 7y
a cosB—sin O 5 0
Ve
cothé ®ansd, M= 2 \n
a cosO—sin 6 \
b—a b+a a—b' a+b
) b+a (2) b-a 3) a+b 5 a-b

59 The angle of elevation of the top of a tower, whose height is 100 m, at a point whose
distance from the base of the tower is 100 m is

100 exg ek Ko 28 oo o wod 100 ey Erdos” §8e T P Ko D Fwo wod

0308 w0

(1) 30° (2) 60°
1—tan” 45°

80 e valie of — =

1+tan~ 45

1—tan? 45°

3 o G0 Jewd
1+tan“ 45
(H 0 (2) -1

(3) 90° (4) 450

3) 1 4 2

SPACE FOR ROUGH
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SECTION — B : PHYSICS (s°88 =m>%9:w0)

61 To find normal to a curved surface at a point, join that point and

(1) Focus (F) {2 Puole (P)

(3) Centre of curvature (C) (4) Any point on principal axis
HEE A8 2.8 Dot HG Lo, & DohHW (808 DS DoHH& Lo Dé;céoé.)o&.
(1) =& (F) ” (2) )8 Boeso (P)

(3) e Sodw (C) (4) Perogn D B Dot

62 When a set of parallel rays of light inclined at 15° to the principal axis, are incident
on a convex lens, they

(1) Converge at focus (F)

(2) Diverge from focus (F)

(3) Converge to a point on focal plane
(4) Diverge from a point on focal plane

Bemrgo8 15° wo e (Hoxredod 5008 Howmdn HoErseY EEhND DEBIPE, @
(1) =8 96 SodgysoHaron

(2) =dod JSo|dEdoserberean

(3) =down S0 a8 HowbP B¢ So|ds)SHYs~on

(4) Do S00D 28 HotH) wod JodEdoseatisran

63 Focal plane of a spherical mirror is
(1) Line joining pole (P) and focus (F) of the mirror
(2) Plane perpendicular to the principal axis at focus (F)
(3) Plane perpendicular at centre of curvature (C)
(4) Plane parallel to the principal axis.

Arersed B8 20 BwEy ok oo wod

(1) &8ym gyd0 (P), ® (F) od senyy Bo
(2) =8 (F) &8 pororsrd8 ooworr ¢b) deodw
(3) se Soo (C) 96 eoworr &d) desn
(4) Pororzrd8 HBhrosdornr &ot dedn

SPACE FOR ROUGH WORK / & 308 Séronosedid §e>z§:o
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64

65

66

67

Dentist uses this mirror to examine teeth of patients.

(1) Concave mirror 2) Coﬁ\'ex mirror

(3) Plane mirror (4) None of the above
Sod gk 8 Sosrety HBFOVOH GHBrAOT S8 @,

(1) Hers=8 s8ymin (2) Sozrs6 S8 =
(3) dde S8y @0 (4) 2 Vaod =P

If object and image lie on the same side of a mirror. the mirror is

(1) Concave (2) Convex

(3) Plane . (4) None of the above
DY), (BSDoa 56 28 FYD 08, & S8 et

(1) Herss - (2) ®ogrss

(3) o OB T

When distance between object and screen is more than 4 times the focal length, in how
many positions of the convex lens, image is sharp ?

V2R, Bbo Wfg irdo H0grsS S8 Targosod8 (f) 4 BusoB 20y 5 &by eand, Sosin B,
), PToS® (HBDowin HYKOMT Goewod?
(D1 (2) 2 | @) 3 (4) 4

If a light ray passing through centre of curvature (C) of a mirror is incident on the
mirror, the reflected ray's path is

(1) Through focus (F) (2) Through centre of curvature (C)

(3) Retraces the path (4) Through any point

28 5708 880, B By e Solgo (C) wod [Haxreiis 6562950 2 DETDHHOP W, Ho°HEH
8dmo @) &rgo

(1) =8 (F) thoe v (2) HE=2010 (C) o

(3) o8 &rgo o BwEH BosreSnod (4) B Do) o

SPACE FOR ROUGH WORK / D HA8 Seravoswdd e
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68

69

70

71

If magnification is equal to one, it means

(1) Image is smaller than object

(2) Image is larger than object

(3) Image is of the same size as that of object
(4) Image is point size

&850 2883 (1) @and, &80

(1) @@doeino, HH Soo) VDB

(2) B8Do2dw, HP &) S0

(3) ®@Boaxtn, HYPH) Todr & HOArPOS® B )ow
(4) B&Dotw Dot Erxws® 696

An object is placed at a certain distance on the principal axis of a concave mirror.
If the image distance (v) is 30 cm and radius of curvature (R) of the mirror is 20 cm,
find the object distance (u).

(1) 10 cm (2) 15 cm (3) 30 cm 4) 7.5 cm

28 PErs S S0 BETE D Fod Srdos’ a8 S soBwBI0. H8Ho ¢rsin (V) 30 0.
D8O S8 0 By HEee agrGin 20 0.2, wond b, K Ersin (1) dod?

(1) 10 20.5. (2) 15 0.5, (3) 30 20.5. 4) 7.5 20.5.

Which part of our eye is responsible for image formation ?

(1) Cornea (2) Crystalline lens (3) Aqueous humor (4) Iris
D EoBS™ & aro Hod (HBDoWO BB 0H?
(1) s8yox (2) se&so (3) J&ess (b0 (4) 2088

Object distance (u), image distance (v), focal length (f) are all measured from

(1) focus (F) (2) optic centre (P)

(3) centre of curvature (C) (4) principal axis

N &S0 (1) ©8Bo2) &rdo (V) wrargosdo (f) en ¥ Dot wod FenFd.
(1) =9 (F) (2) 638 Soigo (P)

(3) Hge Soo (C) (4) Begm

SPACE FOR ROUGH WORK / 2& %98 Séronosedd Do
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73

74

75

In our eye cones identify

(1) Intensity of light (2) Colour
(3) Taste (4) Smell
2P 50e3S*) FoguHen BID H8raw ?

(1) 508 S5 2) ord
() &9 | (4) =

With the help of . eye-lens changes its focal length.

(1) Aqueous humor (2) Cornea
(3) Ciliary muscle (4) Pupil
B P08’ goes serso & THFOST ) rth 108008 ?

(1) 38 e (es50 (2) s6yarr

(3) 72908 Socsoren (4) g0

A;b,ird is flying down vertically towards the surface of water with constant speed.
A fish in-the ‘water vertically below the bird sees the bird

(1) Further away than actual distance
(2) Closer than actual distance
(3) At actual distance
(4)In inclined position
@s“éoé's e39) H8 M SHBS0 BFT eomor S HAE (8ocsH Borenon. H88 eozore H3S° 2.8 35
608,/e BHK D8
(I)eme» P00 808 drdorr St don
(2) oden S0 K08 eKsT Sertesos
(3) even 908" Skerchehod
(4) >enéd® Serchrhon

o ,
F 0£al length of plano-convex lens of refractive index » and radius of curvature R is |
n $lesss D08, R Yo oggitn o hrde Hoarsed Lo By Tergossin |
(=R @ r-% ¢ r==! 4 r=-=

n—1

POLYCET-2021—B 1 16 - [ PT.O.
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77

78

79

A convex lens form image of an object at infinity. Object is at

(1) focus (F) (2) £ =0 f (3) infinity (4) pole (P)
2.8 S0g5°8 SLsin (H8Doerd) ebod Srsos® Qégdi’)o& oY) s Q’zﬁoé’s &;oéa;o&.
(1) =& (F) () C=2f 3) wios &rdo (4) ¢y8Boo (P)

i
o
i H

Formula used when a light ray enters a medium of refractive index »n, from a medium

of refractive index »; at curved surface with radius of curvature R is

5708 880 1y é@aﬁ:ﬁ:ﬁ Heso Ko obrdso zésoéﬂag H 855 Heaso, R g@*’gom do HEseo &8
(B30I, &2 (806 HebESB HOIHB. (1)

ny W n) =8 na —n

— e —— e— % V-l = ———
D S5 o R

v U njy—nj 5 Wy Np - ho =R

—_————=— —_—t =
Loarm s o s e

4Q,8Q, R resistors are connected in series. Resultant resistance is 20Q.
Then p-2

Y
% 7

4Q,8Q, R M'eren @FeSS® Send wgran. HOF Wi 20Q wowd, R=?
1) 69 Q) 40 () 180 4) 3Q

£

When how much current flows in the fuse, it melts ?

Prger (How Jod g HRPR) @& EhHS0b?
(1) 200 A 2)2A 3) 20 A (4) 2000 A

o
{7}

The alloy made of Cu, Mn, Ni is x ;
(1) Magnesium (2) Magnet ‘(3f) Manganin (4) Magma
Cu, Mn, Ni o8 $a78 D S L

(1) DAyRono (2) &S (3) “rordS (4) &roey

SPACE FOR ROUGH WORK / 9& 38 Seronosadd w0
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82

83

84

85

Conductivity =

(1) Resistance™! (2) Current™! (3) Potential™! (4) Resistivity™!
TedrEdgo =

(1) 28°ean! (2) dhrgdygardrin~! (3) FBJaNS! (4) 233 s

Least distance of distinct vision is

(1) 25 m (2) 25 mm (3) 25 cm (4) 25 km
2% Sy S e ‘
dy28 5 2) 2508 (3) 25 o.%. (4) 25 8.5

The resistance of human body varies between

(1) 100 Q to 50,000 Q @ (2) 100 Q to 5,000 Q

(3) 1,000 Q to 5,00,000 Q= (4) 100 Q to 5,00,000 Q
Do Hrsd $06 BP0 Q devde Mg Gotnod?

(1) 100'Q ®od 50,000 Q 5% (2) 100 Q o0& 5,000 Q B
(3) 1,000 Q o0& 5,00,000 Q H5 (4) 100 Q %08 5,00,000 Q H5H

Focal length of a lens is 25 cm. Its power is

28 S8 TegodBE) 25 0., ©and, oo FHEI
(1) SD (2) 6D (3) 4D (4) 0.04D

When a person is suffering from both Myopia and Hypermetropia. which should be
used ?

(1) Bi-convex lens ; | (2) Bi-concave lens
(3) Bi-focal lens (4) Bi-focal mirror
(008 RS 0r, SrEE R Er e H588 $DBrAOUWIOND

(1) Bg%owrss sesmw (2) BgHErs 8 S8
(3) bgTreigoss seosin (4) ogmreigoss S ydw0

SPACE FOR ROUGH WORK / 9 08 Seranosads deoio

POLYCET-2021—B ] 18 - 17 1LO.




87

88

89

90

The current in a conductor is directly proportional to the potential difference between
§s ends. This is called .........

(1) Faraday's law (2) Kirchoff's law (3) Ohm's law (4) Newton's law

&8 TEEMS™D Agd ardrin o Fhe Dt PBINS Bord8 wnS*ird E0S° sotwod.
BV @ JoNHdn eotrdH?

(1) 58 Jonodw (2) 8675 o  (3) 4D Jovddw (4) &rgess davdnin

When a copper wire is connected to a battery the electric field in the wire is
(1) more at positive terminal (2) more at negative terminal

(3) not uniform in the wire (4) uniform in the wire

28 T°A Bif 2geob8 SOUKI P, BriS® DeirgS B
(1) &5 gydo 5 Moy d (2) ewoes GydHo DS Ay B
(3) &x&® D8BAT ot (4) &x8° 8B Gotwos

Units for specific resistance

G B8 |reren

(1) Qm 2) Q/m (3) m/Q (4) Qkg
Force x Length 3 :
Chras = which quantity ?
(1) Potential (2) Current (3) Resistance (4) Capacity
e X PED)
e = °88 0?
(PREEW
(1) B80S (2) dbgsygarsrsn  (3) ISPt (4) S
A current through a conductor is 24, when there is a potential difference of 10V

between its ends. Its resistance is
&8 g0 DEe ey 10V SBIoS Dessodytypd, 24 Mhgs EEiros. o°d APEos?
(1) 5Q (2) 028 3) 20Q 4) 25Q
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SECTION — C : CHEMISTRY (83~0%% F°09300)

In an atom, when electron jumps from ground state to excited state

(1) no change in energy (2) energy is emitted
(3) energy is absorbed (4) depends on atom
VEEPPS® JoFHT erFron DB GBS Fron8 oD

(1) #88° &rdhy socses (2) #8 SEr SO

(3) #8D |iserody (4) BreHD BErsHhd

The orbital which is filled with electrons immediately after '3p' is -
'3p' @8yerS Jodd Sthares QOFISYE Jod B yerS DB?
(1) 4s (2) 3d (3) 4f (4) 4p

When n = 4, the total number of subshells in an orbit is
N =4 o a8)0ph & $6)608° ol Ido &8s T Howg
(| () 4 (3) 2 “4) 3

Which of the following has larger wavelength in electromagnetic spectrum ?

(1) Gamma rays (2) UV rays

(3) X-rays (4) Radiowaves
ADgBAN7 08 HE:H0S" WBE SBorBEso EONSD D?

(1) redr 88eren (2) 086 rs 88cren
(3) X-8wew (4) dd&@> Ssorren

The guantum number which explains about the spacial orientation of orbitals is
WO B2 OAZT g DHBoB sg0to Rowg
(1) n (2) ¢ (3) m, (4) mg

SPACE FOR ROUGH WORK / R HI8 Beranosadd REEY

POLYCET-2021—B ] 20 ' [ PT.O.



9

97

98

99

100

The correct set of four quantum number values for the valence electron of sodium
atom is -

FBavo HEHranD) By o) TP S0t 4 S0 VoPFL enden

1 1
() 0=3, £=1, misl; s (@) o=3, 10, d) 5=+
1 : 1

(3) n=3, £=0, m=1, s = ¥ ) 3 o=l B o

The impurities present in the ore is called as

(1) Flhue (2) Gangue (3) Slag (4) Mineral
THHE OWan &%) DOV M Wotrh?
(1) (o0 (2) reoh (3) Sf&deo (4) =0

Which of the following is used as a flux in the smelting of Haematite ?
B (HiN0 Ho (B$HSPOrT GOBrAOWHHG IB?
(1) SiO, (2) CaSiO; (3) CaCO4 (4) FeSiO;

Potassium and Calcium belongs to

(1) s-block elements (2) p-block elements
(3) d-block elements : (4) f-block elements
Fernono HBoK Y0 DiresTen J B Bokd?

(1) s-z°8 Dreseen (2) p-8 rosten
(3) d-z°§ Droscen (4) f-zr8 Doroseen

Which of the following is an ore of Iron ?
(1) Bauxite (2) Haematite (3) Carnallite (4) Pyrolusite
&3 (806 TES® 2D &P 0?

(1) 28§ (2) oBSs (3) =688 (4) 2Bengs
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101 In electrolytic refining of metals, the pure metal is taken as

(1) Anode (2) Cathode (3) Electrolyte (4) Vessel
Dsog® Mt 38 SrH DHBaNS® HE S0 BIS S Hoerdd?
(1) o8 (2) =88 (3) 893S 4)

102 The reaction that takes place in Thermite process is

(1) Reduction (2) Oxidation

(3) Neutralisation (4) None of the above
8¢5 $8gS® 2B $8g

(1) Zoxsdwo (2) e8yssmo

3) ée.)?gédsao 4) D=

103 What does the symbol 'A' represent in a chemical equation ?

(1) Catalyst (2) Precipitate (3) Heating (4) Physical state
SR o0D BEBRS® A @R Hh B JrD0B?
(1) &880 -~ (2) esE0 (3) dBando (4) FTas23

104 The product formed when quick lime reacts with water is
ks wH)0 WAL A Ty BES® DS (Boresigo
(1) CaSO, (2) Ca(OH), (3) Lacto; (4) CaCl,

105 Which one of the following is not a product in the electrolysis of aqueous NaCl ?
NaCl zolorssd dgs 3 BI8aneS® (80d 7°¢38° A6 (Baxresdgo s°H?
(1) NaOH (2) O, 3) Cl, (4) H,

106 Which of the following has highest mass ?

(1) One molecule H,O (2) One gram H,O
(3) One ml H,O (4) One mole H,O
(Bob T836° 8ghE (555073 $DALORH?

(1) 28 o H,O (2) &8 (e HyO
(3) o8 OOE H,O : (4) =836 H)O
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107 When the equation, Na+H>0— NaOH+H, is balanced, what is the coefficient for

'Na' ?
Na+H>0 — NaOH+H; %85erd) dego Sy Na' &gy, heso dos?
(1) 2 () 3 ) 4 4 1

108 The chemical reéction in which heat is absorbed is called

(1) Oxidation reaction (2) Exothermic reaction
(3) Endothermic reaction (4) Reduction reaction
SRrONS SEZS '$R0' ((RroadS, & SEsH I eotrth?

(1) ©8ys6e ssg : (2) eg@rss sog

(3) s S8g (4) Boxnsse S8

109 Which of the following is not an inert gas element ?
| s (808 Te3S8° axtiarory Dresin 5008 H8?
| (1) He ' (2) Na (3) Ne (4) Ar

110 How many s-block and p-block elements are there in the second period of the modern
periodic table ?

GG GBS HISS™D Bodsd DOAHES® ) 5-2°6 BB P-gE dreseen Soh)?
({1 2,8 (2) 8,2 3) 2,6 4) 4,8

111 Which of the following atomic numbers of elements have similar chemical properties ?
& (800 ¢38" ) S6iren Homgen (o Hrosten i EFD Eorgen EOA Godkbn?
(1) 7.8.9 (2) 9. 17,35 i) 3, 10,11 (4) 10, 11, 12

112 In the modern periodic table group 2 (ITA) elements are called as

(1) Alkali metals (2) Alkaline earth metals
(3) Halogens (4) Noble gases

WSS GBS0 K885 105 2 (11A) smos»ox» DA ©oerE)?

(1) =08 &*5sen (2) s60)88 Soten

() #&tup - (4) =6 aHen
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The valency of Calcium is
5900 BEy doddresss
(1) & (2) 2 (3) 3 (5 4

Atomic number of an element is 17 th%hr the period to which this element belongs
28 Drosin By Hhra dopg 17 @90).):6 @:9 émeéo Q HBaBEH TokH?
M 1 2) 2 — () 3 4) 4

Which one of the following is strong acid ?
&8 (800 °¢3S° DD wH IB?

(1) CH,COOH 2) HCI 3) H,O0 {4) NH,OH
3 4

Which one of the following is an ac1dm ox1de 7
(8od °0S° ey «B)E 26? 0

(1) MgO (2) Na,O (3) CaO 4) CO,
Metallic oxides are generally in nature.

(1) acidic (2) neutral (3) amphoteric (4) basic
St e=9§‘35 e e80T 0gerard) $OA dotraw.

(1) e (2) Sexd  (3) bggursamg 4) =08

(8

The nature of chemical used in antacid-jis

(1) Basic (2) Acidic ~ (3) Neutral ~ (4) All the above

119

120

QUrotrRBES” SHRrAOB BRPOND BHarg HgrH
(1) =8 2) o ") s (4) 220y

pH value of aqueous NaCl solution is
NaCl zeoordeoin @ng) pH devd
(L 1.7 (2): 2

n 3) 10 4) 7

The chemical formula of blue coloured‘”‘@opper Sulphate crystal is

A Borhr 506 9865 2880 Gy SraD éﬁdgéew

(1) CuSO,4-H,0 (2) CuSO,-2H,0 (3) CuSO,-5H,0 (4) CuSO,-10H,O
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SECTION — D : BIOLOGY (8%3°8930)

121 Placenta is formed at around weeks of pregnancy.

K8 Bes 230AD WEHrSD ToroH 207D NCRT-AI

(1) 15 2) 9 4) 5
122 Who discovered Mitosis ? =

(1) Walther Fleming (2) August Weismann

(3) Charles Darwin (4) Lamark
o Desesd D N SO )E?
(1) =5 ok CH2) wrip 35 o5

(3) =T8S @08 (4) =By

—
H :

123 In plahts, the fusion of male gamete with“secondary nucleus results in

(1) Spores (2) Cotyledons (3) Embryo sac (4) Endosperm
Wy o8 Hvik Hes So|gso BBD SoBEos Hoago PO DBk

(1) Sesren 2) Deseseren (3) 2o S50 (4) ®osH8sys0

124 In majority of flowering plants, how many cells are present in an embfyo sac ?
20y B DHRNOD W&y & oS F0S™ Swre Homg
g ° @ s () 7 @) 8

125 The alkaloid used as medicine for snake{w;fh}jte is

(1) Reserpine (2) Caffeine (‘3) Quinine (4) Nimbidin
0 sPéw Dod BEm EH eo&wéﬁai@z’w GOBrAPD.
(1) B335 e Thiees (4) 20085
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126 The hormone responsible for phototropism in plants is

(1) Cytokinin - (2) Gibberellin (3) Auxin (4) Abscisic acid

_ 5835 5708 0nidsHo® soémo ebb.

(1) 2¢°85 - (2) #2)808 (3) &85 (4) ©DYE eHo
127 There are ___ number of cranial nerves in human being.

(1) 10 pairs (2) 15 pairs (3) 12 pairs (4) 13 pairs

rdpos® sre Trden R)?

(1) 10 eseten (2) 15 eseben 3) 12 =den (4) 13 essgen

128 Nerves that carry impulses from sense organ to brain or spinal cord are
(1) Dendrites (2) Afferent nerves (3) Motor nerves  (4) Efferent nerves

Biro S5 G erolBa Prrre Hod B TreD ER DG BWBP wrchew

(1) Bog9ew (2) oo hen  (3) Tred Socew (4) 02006 T

129 A person has loss of control on emotions. Which part of brain must have stopped
functioning ? -

(1) Medulla obloﬁgata (2) Diencephalon

(3) Midbrain (4) Cerebellum

DSBS o HIBanE DBeso B a8 9588 2SBgroD Javolden P& yark.
(1) Bersomo (2) ergerso

(3) gsg deseky (4) od DAPo

130 The most Poisonous of all waste products of metabolism is e
(1) Urea (2) Uric acid (3) Ammonia (4) Amino acids
SHBa0 By o) H58 s B’ b0l RFoSHHS
(1) oxvrdoxe (2) o088 o (3) ©3r)daxe (4) o siren
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131 Which experiment proves that oxygen is evolved by plants during photosynthesis ?
(1) Hydrilla experiment (2) Mohl's half leaf experiment

(3) Black paper experiment (4) None of the above
@) [T crgoe B en SSeandg RoTIr(S Bans® e8yel ¢85 18 ©rhdd rdosnsse?

(1) B B@rso : (2) ) o H$ (HAreo
(3) % s*Ado P@ErKo (4) 3R s

| 132 Which of the following pairs is matched correctly ?

Vitamin Deficiency Disease
(1) Folic Acid - Nervous Disorders
(2) Pantothenic Acid - Anaemia
(3) Biotin - Burning feet
(4) Ascorbic Acid(C) - Scurvy
8t (806 3°¢38° D6 BVOBoD 2

FUHS Qe g A
(1) 908 &8 - & dowos BuRgen
(2) 5"06'5%@(‘()5 wo - @doxe
(3) 2&Bress - ©8s¢) Boden
(4) erp058 wo(C) - 8

133 Which cell organelle in a plant cell participates in photosynthesis ?
(1) Mitochondria (2) Chloroplast
(3) Golgi complex (4) Endoplasmic reticulum

) 8200 &' ) Serroriin 85m ey KoK (Bows® S ?

(1) De&Pseo@an (2) £8>F 08 Sy
(3) m® Po8%0 ' (4) ©osbs (S¥gere0
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134 Which of the following is the correct flow chart of human digestive system ?

(1) Mouth — Buccal cavity —> Pharynx — Oesophagus — Stomach — Duodenum —
Small Intestine — Large Intestine — Rectum — Anus

(2) Mouth — Buccal cavity —> Pharynx — Oesophagus — Stomach — Duodenum —
Large Intestine — Small Intestine — Rectum — Anus

(3) Buccal cavity - Mouth — Pharynx — Stomach — Oesophagus — Duodenum —
Small Intestine — Large Intestine — Rectum — Anus

(4) Mouth — Buccal cavity — Oesophagus — Pharynx — Stomach — Duodenum —
Small Intestine — Large Intestine — Rectum — Anus

&5 (80B Te3S° ArHYD BLHEHO PG B VOBHB?
1) 6 —> wteHFso —> (50 —> @b arerd —> Sgrdano — eolgrdo —> YD —>
S U - C 315
Y (h —> HdIFo —> oD
(2) & - exHFEso —> (K > wFsTrers — Sgedaddn —> wo@rdo — 2SN >
S ¢ S (8 S
DB (0 —> HBIEFo > FowD)
(3) wighito — $&b —> (9 —> derdolin — SFETIE —> volErdo — e —
i —> HBEEEFo —> oD
(4) & > wigHTbo > GFETIrE —> (16 —> Sgedanin —> wodhrdo > IHH —
LD —> PdRTFo —> TP

135 The Origin of Species was written by

(1) Charles Darwin (2) Jean-Baptiste Lamarck
(3) Charles Lyell (4) George Johann Mendel
2o G818 (0dES B VT HIE SSod

(1) =3 =0gd (2) 35 - 2rd] ooty

(3) =BS 8S (4) 2B £°55 DorS

136 In F2 generation, the phenotype ratio of dihybrid cross
BRRo8Sm [HArrod®, F2 d8o @By $ydg drdo AHS
(1) 3:1 2) 1:3:1 (3) 9 =0 (4) 3:9:3:3
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137 Fern leaf which produces spores is called

(1) Sporangium - (2) Sporangiophore (3) Sporophyll (4) Megasporangium
26 Derodn ¢8H8 B 36) Hzrom ©0ES).
(1) ?ocgﬁ)wéo.bo (2) 2gDerdar Hyoso (3) ?o%‘)g)avécb deren (4) %xggbeso

138 Number of pairs of contrasting characters in pea plants selection by Mendel

DoaS M) sde 8BS ofmroiy e S K DT .

(1) 3 @) 7 3) 5 4) 9

139 The wings of a bat and wings of bird are an example of

(1).An;alogous organs (2) Vestigial organs

(3) Hind limbs 4) Homologous organs
$8)o0 BE en DB HEBHew  ©H GorFrde.

(1) (Boxr g edararen (2) ¥R edaHaren

(3) Sssrorren (4) ooy Fig ebadTed

140 Palacontologists deal with

(1) Embryological evidence (2) Fossil evidence
(3) Vestigial organ ; 4) All |
Doedd RS & Bowogo SO Gotrd.

(1) 208838 7%y eSS zeen (2) Beres dsS)yzeew
(3) o%BH ©HND AESE e (4) oy
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141 What are the positions of auricles and ventricles in the heart ?
(1) Upper chambers are called ventricles. and lower chambers are called auricles
(2) Upper chambers are Callgd auricles and lower chambers are called ventricles
(3) Left chambers are called auricles and right chambers are called ventricles
(4) Left chambers are called ventricles and right chambers are called auricles

FYSHINS® EB¥en HBOK 22608y $0B [EhTen II?

(1) 2erros® 2s08en S8 (808 zK0s® 888en dsodron.
(2) Forefos® 8050 ®BAL (808 rros® 2EBEen dotraw.
(3) AsBH E8en B HEDY 2:60%en dotra.

(4) 8B 2:608en DB HAZY 808w dodraw.

142 Through which of the following is water transported in a plant ?

(1) Xylem (2) Phloem

(3) Medulla (4) None of the above
W oS I B ogoe ST Botdy?

(1) o (2) Posweroo

(3) g (4) 3R soeh

143 In humans, the total amount of urine excreted per day is about
(1) 2.5 -3.0 litres  (2) 3.0 - 4.0 litres (3) 0.5-1.0litre (4) 1.6 - 1.8 litres

Y Fers) e ) deg wrEd) Ko h?
{1} .5 308 (2)3.0-40 8 (3) 0.5-1.0 &. 4 16-188

144 Which of the following is the largest artery ?

(1) Aorta (2) Coronary artery
(3) Pulmonary artery (4) None of the above
AS® ©8 e 52 D6?

(1) 2ysre0d (2) #08Ewd

3) HHD 82 (4) dos%
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The position of the right kidney is lower than the left kldney due to the presence of
this organ above it

(1) Brain (2) Liver (3) Lung (4) Stomach

$6 3 &) Dr(d bodo Ay B0 Ak Wr(E0GO K08 TBM 8068 dotwosd. Hir(EoBo 2
G500 DD

(1) et (2) s*8avo (3) @520 dben (4) Sgrdano

Which vitamin is necessary for clotting of blood ?
8o r‘?céée.»é.)éa o) DD HN0?

(1 A {2} B | L A4} K

Which of the following is sound producing organ in' man ?

(1) Pharynx (2) Larynx (3) Trachea (4) Bronchus
LEHIS® #rd) 6878 FH wdanvo I&?
(1) s (2) Dgoaxss (3) oo (4) =gdro

In which plants oxygen is absorbed through aerial roots ?

(1) Mango- (2) Mangroves (3) Banana (4) Rose
D WK oS TaEY ogoe 68255 denFahin?

(1) sé (2) Sroirs (3) eses 4) terd
What is the energy currency of the cell called ?
S0 Jogad) 48 [Hireed) Dokh&?

(1) ATP (2) MONEY (3) DNA (4) RUPEES

While swallowing, which part diverts food mass away from the opening of larynx ?

(1) Pharynx (2) Trachea (3) Epiglottis (4) Alveolus
SE0 BOR HAHOS® areiing e wogh H8E eSS D8 BYHtom Vaw®?
(1) (509 (2) oo SE (3) edeires (4) =ras®s APaven
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